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General Instructions :

Read the following instructions carefully and follow them :

()
(ii)
(iii)
(iv)
)
(vi)
(vii)

(viii)

(ix)
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This question paper contains 37 questions. All questions are compulsory.

Question paper is divided into six sections — Section A, B, C, D, E and F.

Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each question
carries 1 mark.

Section B — Questions no. 21 to 24 are Very Short Answer type questions. Each
question carries 2 marks. Answer to these questions should not exceed 40 words.
Section C — Questions no. 25 to 29 are Short Answer type questions. Each question
carries 3 marks. Answer to these questions should not exceed 60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each

question carries 5§ marks. Answer to these questions should not exceed 120 words.

Section E — Questions no. 34 to 36 are Case-based/Source-based questions with three

sub-questions. Each question carries 4 marks.

Section F — Question no. 37 is Map skill-based question with two parts — 37(a) from
History (2 marks) and 37(b) from Geography (3 marks). This question carries total

5 marks.

In addition to this, NOTE that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such questions

are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Questions) (20x1=20)

Choose the correct option from the following regarding nineteenth century
‘liberalism’ : 1
(A)  Monarchy, social hierarchy and property must be maintained.

(B)  The abolition of state-imposed restrictions on the movement of goods and

capital.
(C)  Criticised the glorification of reason and science.

(D)  Not tolerating dissent and imposing censorship.
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ot forvar 72 & ot wifwalt (argh) & waifera vt fereher ot =1 s |
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IECTG

(A) (A)TEE, Al (R) TEa & |
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(C)  (A) 3R (R) IHT T & 3R (R), (A) il T&T AR |

(D) (A) 3R (R) IF el &, AR (R), (A) A wt AT TET 2 |
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Choose the correct option regarding the Axis powers in the Second World War.

(A)  Germany, Italy and China
(B)  Britain, France and Germany
(C)  Germany, France and Italy
(D)  Germany, Japan and Italy

Arrange the following events in chronological order and choose the correct
option :

L. Establishment of Depressed Classes Association

II. Gandhi-Irwin Pact

III.  Formation of the Indian Chambers of Commerce and Industry (FICCI)

IV.  Second Round Table Conference in London

Options :
(A) LILIL IV B) ILLILIV
©) OLLILIV (D) 1V, LI, 11

Choose the correct option to fill in the blank.

The Vernacular Press Act was passed in on the lines of the Irish
Press Act.

(A) 1878 (B) 1968

(C) 1887 (D) 1778

Two statements are given below. They are Assertion (A) and Reason (R). Read

both the statements and choose the correct option.

Assertion (A) . We need to protect forests and wildlife.

Reason (R) . Conservation maintains ecological diversity.

Options :

(A)  (A)istrue, but (R) is false.

(B)  (A) is false, but (R) is true.

(C)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(D)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).

Page 5 of 23

P.T.O.



Y Ve )

32/s/1

St STl §ET o forg et fmfafaa o @ fore oo o sigear & st § 2
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(A) FAAITINERZ | (B) FaA NI ENE |
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frafafga & & H-91 St o1 A-HuTd & & 2

(A) TR (B) ugiferam

(C) HEeT (D) YT Fsil

= < e feg T B | A SRR (A) 3SR (R) © | ST AT bt ufey 31T wEt
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FRO(R) ;IO EIHR ! o (e ST MEERT o AT ¥ wvt e Wl |
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(A)  (A) 3R (R) THT T & 3R (R), (A) I TET AT |

(B)  (A) 3 (R) IHT T&t &, AR (R), (A) il TET AT 77T 2 |

(C) (AT e, AfeT (R) T & |

(D)  (A)TEd &, TR (R) TR & |
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6.
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In which one of the following states are ‘Tankas’ prominently prevalent for
rainwater harvesting ?

(A)  Tamil Nadu (B) Rajasthan

(C) Bihar (D) Jharkhand

Read the following features of plantation agriculture and choose the correct option :

L. A single crop is grown on a large area.
IL. It is capital intensive farming.
III. It 1is practised in areas of high population pressure on land.

IV.  Food grain crops are the major crops of this type of farming.

Options :
(A)  OnlyI and II are correct. (B) Only II and III are correct.
(C)  Only I and IV are correct. (D) Only I and IV are correct.

Which one of the following is a non-conventional source of energy ?
(A) Natural gas (B) Petroleum
(C) Coal (D) Geothermal energy

Two statements are given below. They are Assertion (A) and Reason (R). Read
both the statements and choose the correct option.
Assertion (A) . Power sharing is the spirit of democracy.

Reason (R) . Alegitimate government is one where all the groups connect
with the government through their participation.

Options :

(A)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C)  (A)istrue, but (R) is false.

(D)  (A)is false, but (R) is true.
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10.

11.

12.

13.

14.
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T T FHeater faaor®

(A) TG o forfir=T 31t o o= ot sfeanT |
(B) fafir wrTisTes wgt # T 1 sfeam |
(C)  fafir qama gt # T 1 sfeam |

(D) TR o [T TqT O |1 T S |

fafafaa 9 o gefir eHifas e I 23 & ufey 3t wet foeshew o1 =RF
SHifere -

L Oh TST S I =

. e IV. 9

e :

(A) FAAITINERZ | (B) FaA NI EHNE |
(C) FAAIT IVESE (D) FHaA 1T IVERE |
sficieht # FHfARad § & ShIH-61 §He SgeEaT | 8 2

(A) st (B) WIRd S o afiret
(C) =i dfa (D) 3@Tg

et & forereft stferenrl ot wwert T @ weiferd Wt forehed st < #hife |
(A) e, TE=s, e T STR et Hiveaat

(B)  fcedr, fareeft e, S o g=

(C)  YfcrE, ST, AfirsT TR HiY

(D)  Toream, o4, forame ot me oA

W | Tsiifer et § gur & fog Fefciad 3§ @ si-ar sime aied = 3
ST ot 2

(A) &t I T TSR AT FHUAT AR 7 |

(B) Tt el BT AT fed T e B

(C)  Txft Sfieaml ol U ST SATURTI: HTHEAT ST ST 3T -G ¢ |
(D) <Al % AT HIHHIS i LT FLA % TSI ST BT |
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10.  Vertical division of power is : 1

(A)  Power is shared among different organs of government.
(B)  Power is shared among different social groups.
(C)  Power is shared among different pressure groups.

(D)  Power is shared among different levels of governments.

11.  Refer to the following countries with federal political system and choose the
correct option : 1
L. United States of America II. China
IlI.  Japan IV. India
Options :
(A)  OnlyIand II are correct. (B) Only II and III are correct.
(C)  Only IIT and IV are correct. (D) Only I and IV are correct.

12. Which one of the following is the majority community in Sri Lanka ? 1
(A)  Sinhalas (B) Indian Tamils
(C)  Sri Lankan Tamils (D) Christians

13.  Choose the correct option regarding the Concurrent List of legislative rights in
India. 1
(A)  Currency, Irrigation, Adoption and Computer Software
(B)  Defense, Foreign Affairs, Banking and Communication
(C)  Police, Business, Commerce and Agriculture
(D)  Education, Forest, Marriage and Adoption

14.  Which one of the following orders has been passed by the Supreme Court to
reform political parties in India ? 1
(A) It is mandatory for all parties to hold organizational elections.
(B) It is mandatory for all parties to file income tax returns.

(C) It is mandatory for all the candidates to give details of criminal cases on
affidavit.

(D)  Issuing orders to regulate the internal working of parties.

32/S/1 Page 9 of 23 P.T.O.
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15. Ffafed § & SHH-91 Sl Hi 3T 1 @ i 2 ?
(A) Tod S o e o=
(B) W STHT & ITH &
(C) HSIGR O KT & AT o ®9 § ITH &
(D) <t sl st Hufa & TH o

16. 9 | UTHIUT U@ & fT ot sh STasaehdredt i FAfaiad & & siH-97 9 ged

31k T & g AT B 2
(A) SHTEHEIE S (B) UEshrt wiufaat
(C) dHEhK (D) R

o

17. feuw T o o1 st IS | Fomr & 819 aret o sredfegaen & fFefefaa 9 9 fora

&5 o ATl SATAT & ?

(A) TR
(C) qataeh

e ; (EfcTRad Sv Shact greaTfera GXierTieran & 1o7g I &1 17 % T W e |

aRTuTe srefeaee & frefafad § & fore 8ok o Sfarta sTmaT & 2
(A) i B) fxdfa
(C) qdrr (D) =g

<
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15.

16.

17.

Note :

32/5/1

Which one of the following is the main source of a bank’s income ? 1
(A)  Money obtained from Reserve Bank

(B)  Money received from demand deposit

(C)  Money obtained as interest on loan from the borrower

(D)  Money received from the property of a defaulting borrower

Which one of the following sources meets the needs of loan of rural households in

India to the maximum extent ? 1
(A) Commercial Bank (B) Cooperative Societies
(C)  Moneylender (D) Businessman

Study the given picture. The work being done in the picture comes under which of

the following sectors of the economy ? 1

; b : AN hean
(A)  Primary (B) Secondary
(C)  Tertiary (D) Quaternary

The following question is for the Visually Impaired Candidates only, in lieu of
O.No. 17.

Animal husbandry comes under which of the following sectors of the economy ? 1
(A)  Primary (B) Secondary
(C)  Tertiary (D) Quaternary

Page 11 of 23 P.T.O.
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18.

19.

20.

21.

22.

23.

24.
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STFIGEAT o &Feh] ¥ T Hel SIS o foreheq o1 == HifST | 1
(A) T - @
B) fgdes i GEIREGI]
(C) qdEsh — He=d
(D) Tl — A qTe
feferRaa # & forg e 1 wra T gerehiss waifoss @ 2 ]
(A) USE (B) TSI
(C) TSEH (D) A
Tk T o6t gfet o for =@t forepea ot == hifS |
forar =TI Eie T sh e UL Y BT AT | 1
A) fowtaa (B) fommasfter
(C) Te-Frue (D) TTETeY
LCLERC)
(et erg sl W) (4x2=8)

(@) wAn (e &) A fohd Terr g 2t STrer on ? fereel &1 SeTewl died g

HNT | 2

AT

(b) TR T Tl § g e o6 sfter fohel JehIC Witepicieh SATEM-S&T G foram ot 2

foregi <t SeTeon wfed T Hifsw | 2
“ITYeh QT STTETS! TSMT hT TLdT AT TEAU | ITT ST & | ISTE0T Fied 56 I hi
s i | 2
G SFET hl AhAdT & T Gaenfer Jrae @t T 8HT R STEwh § 2 Wy
HIT | 2
SAYSfTeRTT Shl EHE ST H T Te S SEfivsht sht fHeht s forgetsr hifS | 2
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18.

19.

20.

21.

22.

23.

24.
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Choose the correct pair regarding the sectors of economy. 1
(A)  Primary — Mining
(B)  Secondary — Flower cultivation
(C)  Tertiary — Fishing
(D)  Secondary — Bee-keeping
Which one of the following states has the highest Human Development Index ? 1
(A)  Punjab (B) Gujarat
(C)  Rajasthan (D) Kerala
Choose the correct option to fill in the blank.
World Trade Organisation was started at the initiative of the countries. 1
(A)  Developed (B) Developing
(C)  Non-aligned (D) Communist
SECTION B
(Very Short Answer Type Questions) (4x2=38)
(a) How did the Silk Route connect the world ? Explain with any two
examples. 2
OR
(b)  How did our foods facilitate cultural exchanges between distant countries ?
Explain with any two examples. 2
“In sedimentary rocks a number of minerals occur in beds or layers.”” Support the
statement with example. 2
Why are constitutional provisions necessary for the success of federalism ?
Explain. 2
Analyse the role of Information and Communication Technology in making
globalization possible. 2
Page 13 of 23 P.T.O.
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(TI-ST0 TT9) (5x3=15)
25. (a)  STEEANT AfGIer % AT TTat ohT forveryor Hifsre | 3

AT

(b)  “¥Id H AT TG o I8 hl UREreAT Jufrerzrang forveft sviaier & @

TEL AR W ST ES ol |7 56 U T foweiwur i | 3

26.  HETEAT o feshyUl ST % AT forg TR RIS U weHT WHifa B 2 Seren
wfed Tz fifsw | 3
27. WA foRETT bl IRRITEA R ST Ty 2 foreel i shTeont bt = hifsie | 3
28. AU WA H I TSHT{oh Gall o e foheal oI STl shi sareT hiferg | 3
29.  “TN o forehTd o A& T 81 Tohd § |7 39 h hl SSTELUN Ted sAHEAT ehifolu | 3

LCLER>)

@Erd-30a w) (4x5=20)

30. (a) 1830 % qH JUY H WY IHTfh HISATE Tk TMAT | T6 HAT i IS
e g Hifer | 5

HAYAT

(b)  “I~fe TraTedt o FART H UG | Tg 6 foramy o Fior § Hepfcr 3 T 31w
WftrerT F11TS 1 39 e <t SaTen afed g Hifv | 5
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26.

27.

28.

29.

30.

32/s/1

(a)

(b)

SECTION C
(Short Answer Type Questions) (5x3=15)
Analyse the economic impacts of the Non-Cooperation Movement. 3

OR

“‘In India, the growth of modern nationalism was intimately connected to

the anti-colonial movement.”” Analyse the statement. 3

How is planning a widely accepted strategy for judicious use of resources ?

Explain with examples. 3
Why should Indian farmers practice crop rotation ? Explain any three reasons. 3
Explain any three challenges before Indian political parties in the present time. 3

“People can have different developmental goals.” Explain the statement with

examples. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
(a) “The 1830s were years of great economic hardship in Europe.” Support the

(b)

statement with examples. 5

OR

“Culture played an important role in creating the ideas of a nation in
Europe during the early nineteenth century.” Explain the statement with

examples. 5
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34.
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(2)

(b)

(a)

(b)

(b)

TR TGN | 3TN oh Hewdl hl ATEAT HiTST | 5
AT

SN 1Y QN7 o foIY fordr YehR Seitemelt & 2 gwshl Uehel™ o foTe feheel ot

SUTIT T gAY | 2+3=5

Aehas forE TR forrgl 317 SITEe SFerEall ¥ 98X © 2 3Se gfed €Iy

IS | 5
3YAT
Arehdd TohT TR AT faferaaret § |THseT TTfUd Shidr & 2 3STeTn
gfgd Tos s | 5
T § A1k &Teh oSG e oh SATEAT ShiTSTT | 5
AT
Gifed Ud STEITST &5eh! | 37aT T IS | 5
Qus g
(ShE-3TTTHE / FA-2ATLTRT T9T) (3x4=12)

fow T & =t ufer T 3Eek = fow g et o 3T AT -

IECI

T ¥ St (Jikji) I@Wﬁ?ﬁ‘ﬂ*ﬂ (Movable metal type) %wgﬁagﬁm
o1 Ferd qUHT HISET ki 6§ @ | 369 S (Zen) S 94 ol 7Y faivard & | &
U I, <9 SR R & @ 150 st FrggeAl a1 Soor@ fohar T/ € | g9 1440
TATeRT o 37 # i foram T o | gRe o Ted TS Uy TE €, 3o ©S i

A ATgSHT IS & | AT 1 TE0T HEHAT H U HEwEqU qeheATeh! giad e
TAT | F=T RO & o 3/ 2001 T FFh! AT T 3 Toe Woeet 1 3o foharm T |

(34.1) 3T % 3faere # fSeft 3 He 1 Seehg i | 1

(34.2) TSI T 2001 H EHT HARY ST T Tce Aoreet 7 FT tford fopam T 2 I

(34.3) S siig o Y g # frersit forer TehR anTeE 2T R 2 2
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31. (a)  Explain the significance of industries in the Indian economy. 5
OR
(b)  How are industries responsible for air pollution ? Suggest any three
measures to control it. 2+3=5

32. (a) How is democracy better than any other form of government ? Explain

with examples. 5

OR
(b)  How does democracy accommodate social diversities ? Explain with

examples. 5

33. (a) Explain the rising importance of the tertiary sector in India. 5
OR

(b)  Explain the difference between organized and unorganized sectors. 5

SECTION E
(Source-Based/Case-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :
Jikji
The Jikji of Korea is among the world’s oldest existing books printed with
movable metal type. It contains the essential features of Zen Buddhism. About
150 monks of India, China and Korea are mentioned in the book. It was printed in
late 14t century. While the first volume of the book is unavailable, the second
one is available in the National Library of France. This work marked an important

technical change in the print culture. That is why it was inscribed on the
UNESCO Memory of the World Register in 2001.

(34.1) Mention the significance of the Jikji in the history of printing. 1

(34.2) Why was the Jikji inscribed on the UNESCO Memory of the World
Register in 2001 ? 1

(34.3) How does the Jikji contribute to the understanding of Zen Buddhism ? 2
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35.

36.
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faw v ga = ufew 3 3ges A= fou U gwHT %S9 i
AT 3 arfies ferferaar

IRA Y STHVET B I3 g8 9Tl o1 gt anrieeht & e @t gst fopa St @ |
ST ferdTT <6 STTEHT B-B ST QT & 3eh I H G Serd & | o aoa aft
STl o S H AN S S FdTd 8, S1oh S8 &l BH H &1 [T ST 8 | IR g Hedl &
T3 a5 “Tifiaer 2 a1 forelt o =AY i war Y el o oft sH A S ot A feT ST 2
T4 RO o0 | T ol 6t A aTer <A sht S R 3 U § 3 foRet
e o S H BN U ferzeerter el € | feehte & <91 o 8 9@ afties aeert
1 ST o STTUTA T Ul <A @ | SATSITET o 18 § Teeh ik T shl HATea1 4
FH AETE T |
(35.1) YR H SFHATUET fopdr Saaret W &Y STt & 2
(35.2) WRA § STUMT % 3TTehel ol forvargi =it 7T SITar & 2

(35.3) WRd # @i fafagar st gwe & fAT SEoET foRe TeR T Aeequl
JUHT 2 2

few mw Eq w ufew o 3ues = fou u e %S9 i
TorerTer it emutEEaT

“gTeT o SHTOT & UelT Il & fo 21 3 g Wl o ST STet o1 SATA-STaNT 81 o1
T ke & | T 300 TSt & g fieft @ for 9=t st 20 |t ot o &R
4 Hiet & Ffereh ol e 3A1S @ | 921 o1 ST Toh-deTs Wi, 9T STet WOSHy
ATT-IUAT o @1 2 | A 39 G199 o TANT F T Faq alienT ST BT ar 37T
25 ST & I T 60 FIRIG MO $9 e 1 ATT-STAM L &1 B | a1 &
SATT-STANT forRIS €7 § USTeT T GFEET I IS o6 W T 3B & q5 &1, 7T 371
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35.  Read the given source and answer the questions that follow :

Social and Religious Diversity

The Census of India records the religion of each and every Indian after every
ten years. The person who fills the Census form visits every household and
records the religion of each member of that household exactly the way each
person describes it. If someone says she has ‘no religion’ or that he is an ‘atheist’,
this is exactly how it is recorded. Thus we have reliable information on the
proportion of different religious communities in the country and how it has
changed over the years. The record shows the population proportion of six major
religious communities in the country. Since Independence, the total population of
each community has increased substantially.
(35.1) At what interval is census conducted in India ? 1
(35.2) Why are Indian census data considered reliable ? 1

(35.3) How is the census an important tool to understand the social diversity in
India ? 2

36. Read the given source and answer the questions that follow :

Sustainability of Development

“Recent evidence suggests that the groundwater is under serious threat of
overuse in many parts of the country. About 300 districts have reported a water
level decline of over 4 metres during the past 20 years. Nearly one-third of the
country is overusing their groundwater reserves. In another 25 years, 60 per cent
of the country would be doing the same if the present way of using this resource
continues. Groundwater overuse is particularly found in the agriculturally
prosperous regions of Punjab and Western U.P., hard rock plateau areas of central
and south India, some coastal areas and the rapidly growing urban settlements.”

(36.1) Explain the meaning of Sustainability of Development. 1
(36.2) Describe the serious threat caused by overuse of underground water. 1

(36.3) Mention any two suggestions for the farmers to reduce the overuse of the

groundwater in agriculture. 2
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37. (a)

(b)

Qug oI

(TR S ITA-2ATTRE T9T) (2+3=5)

WA o T3T T TSR T@T-AH T (T53 23 W) , 3T TIHI 1 ‘A” 3 B’ &
&Y # ferd fomar mar 2 | FA=foifed STt it wgmdr 9 3% geenY 3

I G T 3 gHIT Ei=t 78 Tgrett w fefau

A, I8 T S st 3 foramt h g o o aeame o) 1
B. 9§ TAM W&l 1927 § TRATT TSR HUH T ST T T | I
WA o g1 Tt fereh Tar-ates 4, fefafad o @ fet @7 %t Sug gt @
2IST 3T 9ok 1 feAflgT 3x1=3

(i) Tl IcUTeT | 3Tt T
(i) g T e hi @
(iii)  eifear : T @

(iv) TSt el Sl g ae=

e : (HECTREd J¥7 Fact Groarierd GRieTTieran & 1o7Q Yo7 &1 37 % T R e |
Toreel uier 341 & ST forT | 5x1=5

(37.1)
(37.2)
(37.3)
(37.4)
(37.5)
(37.6)
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S TS o A1 TIRaT ST8T g1 wile-32reeh ohl T Rud € |

34 TS 1 A9 fIRa et shifeer as oo fad 2 |

3G T 1 A AR STat Tsiiar Mt ST ang oo a2 |
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SECTION F
(Map Skill-Based Questions) (2+3=5)
37.  (a) Two places ‘A’ and ‘B’ have been marked on the given political outline

map of India (on page 23). Identify them with the help of the following
information and write their correct names on the lines drawn near them :

A. The place where Gandhiji organized Satyagraha to help the

peasants. 1
B. The place where the session of the Indian National Congress was
held in 1927. 1

(b)  On the same political outline map of India, locate and label any three of the
following with suitable symbols : IxI1=3
(1) Leading Coffee-producing State
(i1))  Durg : Major iron-ore mines
(iii))  Kochi : Major sea port
(iv)  Rajiv Gandhi International Airport

Note : The following questions are only for the Visually Impaired Candidates only, in
lieu of Q.No. 37.
Attempt any five questions. Sx1=5

(37.1) Name the place where Gandhiji organised Satyagraha to help the peasants.

(37.2) Name the place where the session of the Indian National Congress was
held in 1927.

(37.3) Name the leading Coffee-producing State of India.
(37.4) Name the state where Durg iron-ore mines are located.
(37.5) Name the state where Kochi sea port is located.

(37.6) Name the place where Rajiv Gandhi International Airport is located.
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Supplementary Examination, July-2024
SUBJECT NAME: Social Science SUBJECT CODE:087 PAPER CODE: 32/S/1

General Instructions: -

You are aware that evaluation is the most important process in the actual and correct assessment of
the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is
requested that before starting evaluation, you must read and understand the spot evaluation
guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in
any manner could lead to derailment of the examination system and affect the life and future
of millions of candidates. Sharing this policy/document to anyone, publishing in any magazine
and printing in News Paper/Website etc may invite action under various rules of the Board
and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on
latest information or knowledge and/or are innovative, they may be assessed for their
correctness otherwise and due marks be awarded to them. In class-X, while evaluating two
competency-based questions, please try to understand given answer and even if reply is not
from marking scheme but correct competency is enumerated by the candidate, due marks
should be awarded.

The Marking scheme carries only suggested value points for the answers.These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own
expression and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after delibration and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer CROSS X" be marked.
Evaluators will not put right (v )while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10.

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11.

A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

12.

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other
subjects (Details are given in Spot Guidelines).

13.

Ensure that you do not make the following common types of errors committed by the Examiner in
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the past:- Giving more marks for an answer than assigned to it.

e \Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)
e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14. | While evaluating the answer books if the answer is found to be totally incorrect, it should be marked
as cross (X) and awarded zero (O)Marks.

15. | Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by
the candidate shall damage the prestige of all the personnel engaged in the evaluation work as also
of the Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the
instructions be followed meticulously and judiciously.

16. | The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17. | Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18. | The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the

prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once
again reminded that they must ensure that evaluation is carried out strictly as per value points for
each answer as given in the Marking Scheme.
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CBSE SUPPLEMENTARY EXAMINATION - JULY 2024

Marking Scheme
Class X -Social Science (087)

SET-32/S/1
SET-1 MM:80
S.No. Values Points Page No. | Marks-
Section A (20X1=20)
Multiple Choice Question
1 (B) The abolition of state- imposed restrictions on the movement |9 H 1
of goods and capital.
2 (D) Germany, Japan and Italy 74 H 1
3 (O 1 N I P N P AV 40-42H |1
4 (A) 1878 127 H 1
5 (C) Both (A) and (R) are true and (R) is the correct explanation of | 13 G 1
(A).
6 (B) Rajasthan 26 G 1
7 (A) Only I and Il are correct 31G 1
8 (D) Geothermal energy 55 G 1
9 (A) Both (A) and (R) are true and (R) is the correct explanation of | 6 P 1
(A).
10 (D) Power is shared among different levels of governments. 8P 1
11 (D) Only I and IV are correct 14 P 1
12 (A) Sinhalas 3P 1
13 (D) Education, Forest, Marriage and Adoption 16 P 1
14 (C) It is mandatory for all the candidates to give details of 60 P 1
criminal cases on affidavit.
15 (C) Money obtained as interest on loan from the borrower. 42 E 1
16 (C) Moneylender 48 E 1
17 (A) Primary 20 E 1
For Visually impaired candidates only-
(A) Primary 1
18 (A) Primary- Mining 20 E 1
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19

(D) Kerala

10E

1

20

(A) Developed

S5 E

1

Section B

Very Short Answer Type Questions

(4X2=8)

21

(a) How did the silk route connect the world?

(i)
(ii)

(iii)

(iv)

v)
(vi)

The silk routes are a good example of vibrant pre-modern trade
and cultural links between distant parts of the world.

Historians have identified several silk routes, over land and by
sea, knitting together vast regions of Asia, and linking Asia
with Europe and northern Africa.

Chinese pottery also travelled the same route, as did textiles
and spices from India and Southeast Asia. In return, precious
metals — gold and silver — flowed from Europe to Asia.

Trade and cultural exchange always went hand in hand. Early
Christian missionaries almost certainly travelled this route to
Asia, as did early Muslim preachers a few centuries later.
Buddhism emerged from eastern India and spread in several
directions through intersecting points on the silk routes.

Any other relevant point.

(Any two points to be explained)

OR

(b) How did our foods facilitate cultural exchanges between

(i)

(i)

(iii)

(iv)

(v)

(vi)

distant countries? Explain with any two examples.

Traders and travelers introduced new crops to the lands they
travelled. Even ‘ready’ foodstuff in distant parts of the world
might share common origins.

It is believed that noodles travelled west from China to
become spaghetti.

Arab traders took pasta to fifth-century Sicily, an island now in
Italy.

Similar foods were also known in India and Japan, so the truth
about their origins may never be known.

Many of our common foods such as potatoes, soya,
groundnuts, maize, tomatoes, chilies, sweet potatoes, and so on
were not known to our ancestors until about five centuries ago.
These foods were only introduced in Europe and Asia after
Christopher Columbus accidentally discovered the vast

54 H

54 H

2X1=2

2X1=2
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continent that would later become known as the Americas.
(vii) Sometimes the new crops could make the difference between
life and death. Europe’s poor began to eat better and live
longer with the introduction of the humble potato.
(viii) Any other relevant point.
(Any two points to be explained)

22 “In sedimentary rocks a number of minerals occur in beds or | 53 G 2X1=2
layers.” Support the statement with examples.
(1)  In sedimentary rocks a number of minerals occur in beds or
layers. They have been formed as a result of deposition,
accumulation and concentration in horizontal strata.
(i)  Coal and some forms of iron ore have been concentrated as a
result of long periods under great heat and pressure.
(iii)  Another group of sedimentary minerals include gypsum,
potash salt and sodium salt.
(iv) These are formed as a result of evaporation especially in arid
regions.
(v)  Any other relevant point.
(Any two points to be explained)
23 Why are constitutional provisions necessary for the success of | 15 P 2X1=2
federalism? Explain.
(1)  The jurisdictions of the respective levels or tiers of government
are specified in the constitution. So the existence and authority
of each tier of government is constitutionally guaranteed.
(i)  The fundamental provisions of the constitution cannot be
unilaterally changed by one level of government. Such changes
require the consent of both the levels of government.
(i)  Courts have the power to interpret the constitution and the
powers of different levels of government.
(iv)  Sources of revenue for each level of government are clearly
constitutionally specified to ensure its financial autonomy.
(v)  Any other relevant point.
(Any two points to be explained)
24 Analyse the role Information and Communication Technology in | 63 E 2X1=2

making globalisation possible.

(1)  Inrecent times, technology in the areas of telecommunications,
computers, Internet has been changing rapidly.

(i)  Telecommunication facilities (telegraph, telephone including
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mobile phones, fax) are used to contact one another around the
world, to access information instantly, and to communicate
from remote areas.

(iii)  This has been facilitated by satellite communication devices.
(iv)  Computers have now entered almost every field of activity.
(v)  With the help of Internet, information can be obtained and

shared
(vi) Internet also allows us to send instant electronic mail (e-mail)

and talk (voice-mail) across the world at negligible costs.
(vii) Any other relevant point.

(Any two points to be analysed.)

Section C (5X3=15)
Short Answer Type Questions
25 (a) Analyse the economic impacts of the Non-Cooperation | 34 H 3X1=3
Movement.
(i)  Boycott of Foreign Goods
(i)  Development of Indigenous Industries
(iti)  Decline in Revenue for British Companies
(iv)  Adverse impact on Government Revenue
(v)  Economic Self-Reliance
(vi)  Any other relevant point
(Any three points to be analysed)
OR

(b) “In India, the growth of modern nationalism was intimately | 29-H 3X1=3

connected to the anti-colonial movement.” Analyse the statement.

(1
(i)
(iii)

(iv)
(v)

(vi)

People began discovering their unity in the process of their
struggle with colonialism.

The sense of being oppressed under colonialism provided a
shared bond that tied many different groups together.

The Congress under Mahatma Gandhi tried of forge these
groups together within one movement.

Symbols of nationalism like Bharatmata and VVandemataram
Anti-colonial movements like Non-Cooperation, Civil
Disobedience etc were directed against the British rule

Any other relevant point.

(Any three points to be analysed.)
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26 How is planning a widely accepted strategy for judicious use of | 4 G 3X1=3
resources? Explain with examples.

(1)  Planning helps in identifying the available resources and
allocating them efficiently across various sectors.

(i) It ensures maximising their utility and minimising wastage
during activities.

(i)  Planning allows for a balanced development of different
regions and sectors within the country.

(iv) By prioritizing areas that need development the most, planning
ensures that resources are distributed equitably. For instance,
the planned development during the Green Revolution focused
on enhancing agricultural productivity in regions that were
lagging behind.

(v) Planning involves setting long-term goals and creating
strategies to achieve them.

(vi) Planning facilitates the development of infrastructure such as
roads, railways, ports, and communication networks. This
infrastructure supports economic activities and enhances
connectivity, leading to overall development.

(vii) Any other relevant point
(Any three points to be explained)

27 Why should Indian farmers practice crop rotation? Explain any | 29,38G | 3X1=3
three reasons.

(1)  Toincrease crop yield.

(i)  To protect fertility of soil.

(iii)  To diversify their crop.

(iv) To increase their income.

(v)  Any other relevant point
(Any three points to be explained.)

(Any other view of the candidates may also be considered related

to crop rotation.)

28 Explain any three challenges before Indian political parties in the | 57-P 3X1=3

present time.

(i)
(i)

(iii)
(iv)
V)

(vi)

Lack of internal democracy.

Political parties do not conduct regular internal election and do
not hold meetings.

Dynastic succession

Money and muscle power

They do not seem to offer a meaningful choice to the voters.
Any other relevant point

(Any three points to be explained.)
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29 “People can have different developmental goals.” Explain the |4 E 3X1=3
statement with examples.
(1)  Social and cultural needs of every person are different and so
are goals.
(i) A girl expects as much freedom and opportunity as her brother
and that he also shares in the household work but her brother
may not like this.
(iii)  Industrialists may want more dams to get more electricity.
(iv)  The people around those water bodies -like tribals, may prefer
small check dams or tanks to irrigate their lands.
(v)  Any other relevant point.
(Any three points to be explained.)
Section D (4X5=20)
Long Answer Type Questions
30 (a) “The 1830s were years of great economic hardship in| 15H 5X1=5
Europe.” Support the statement with examples.
(i) The first half of the nineteenth century saw an enormous
increase in population all over Europe.
(i)  In most countries there were more seekers of jobs than
employment.
(iii)  Population from rural areas migrated to the cities to live in
overcrowded slums.
(iv)  Small producers in towns were often faced with stiff
competition from imports of cheap machine-made goods from
England, where industrialisation was more advanced than on
the continent.
(v) In those regions of Europe where the aristocracy still enjoyed
power, peasants struggled under the burden of feudal dues and
obligations.
(vi) The rise of food prices or a year of bad harvest led to
widespread pauperism in town and country.
(vii)  Any other relevant point.
(Any five points to be explained)
OR
(b) “Culture played an important role in creating the ideas of | 14 H 5X1=5

a nation in Europe during the early nineteenth century.”
Explain the statement with examples.

Culture played an important role in creating the idea of the
nation: art and poetry, stories and music helped express and
shape nationalist feelings.

Page 8 of 17




(i)
(iii)

(iv)
(V)

(vi)

(vii)

(viii)

(ix)

()

Romanticism was a cultural movement which sought to
develop a particular form of nationalist sentiment.

Romantic artists and poets generally criticised the glorification
of reason and science and focused instead on emotions,
intuition and mystical feelings.

Their effort was to create a sense of a shared collective
heritage, a common cultural past, as the basis of a nation.
Other Romantics such as the German philosopher Johann
Gottfried Herder (1744-1803) claimed that true German
culture was to be discovered among the common people — das
volk.

It was through folk songs, folk poetry and folk dances that the
true spirit of the nation (volksgeist) was popularised.
Collecting and recording these forms of folk culture was
essential to the project of nation-building

The emphasis on vernacular language and the collection of
local folklore was not just to recover an ancient national spirit,
but also to carry the modern nationalist message to large
audiences who were mostly illiterate.

In Poland which had been partitioned at the end of the
eighteenth century by the Great Powers — Russia, Prussia and
Austria, national feelings were kept alive through music and
language.

Karol Kurpinski, for example, celebrated the national struggle
through his operas and music, turning folk dances like the
polonaise and mazurka into nationalist symbols.

The use of Polish came to be seen as a symbol of the struggle
against Russian dominance.

(xi) Any other relevant point.

(Any five points to be explained)

31

(2) Explain the significance of industries in the Indian economy.

(i)

(i)

(iii)
(iv)

Industries help in modernising agriculture, which forms the
backbone of our economy.

They reduce the heavy dependence of people on agricultural
income by providing them jobs in secondary and tertiary
sectors.

Industrial development is a precondition for eradication of
unemployment and poverty from our country.

It was also aimed at bringing down regional disparities by

58 G

5X1=5
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establishing industries in tribal and backward areas.

(v)  Export of manufactured goods expands trade and commerce,
and brings in much needed foreign exchange.

(vi) Countries that transform their raw materials into a wide variety
of finished goods of higher value are prosperous. India’s
prosperity lies in increasing and diversifying its manufacturing
industries as quickly as possible.

(vii) Any other relevant point.

(Any five points to be explained)

OR

(b) How are industries responsible for air pollution? Suggest any | 66 G 2+3=5

three measures to control it.

(1)  Air pollution is caused by the presence of high proportion of
undesirable gases, such as sulphur dioxide and carbon
monoxide.

(i)  Airborne particulate materials contain both solid and liquid
particles like dust, sprays mist and smoke.

(iii))  Smoke is emitted by chemical and paper factories, brick kilns,
refineries and smelting plants

(iv) Burning of fossil fuels in big and small factories that ignore
pollution norms.

(v)  Toxic gas leaks can be very hazardous with long-term effects.

(vi)  Any other relevant point.

(Any two points to be explained) (2X1=2)

Particulate matter in the air can be reduced by-

(i)  fitting smoke stacks to factories, with electrostatic precipitators

(i)  fabric filters

(iii)  scrubbers and inertial separators.

(iv)  Smoke can be reduced by using oil or gas instead of coal in
factories.

(v)  Any other relevant point.

(Any three points to be explained) (3X1=3)
32 () How is democracy better than any other form of government? | 64P 5X1=5

Explain with examples.

(1) It Promotes equality among citizens;

(i) It Enhances the dignity of the individual
(i) It improves the quality of decision-making
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(iv) It Provides a method to resolve conflicts

(v) Itallows room to correct mistakes.

(vi) Accommodates social diversity

(vii) Is an accountable and legitimate form of government

(viii) Enhances freedom of citizens.

(ixX)  Any other relevant point.
(Any five points to be explained)

OR

(b) How does democracy accommodate social diversities? Explain | 70 P EX1=5

with examples.

(i)  Democracies lead to peaceful and harmonious life among
citizens.

(i) Democracies have successfully negotiated differences among
ethnic populations.

(ili) Democracy develops a mechanism to negotiate the
differences.

(iv) Majority works with minority

(v) A democracy has the ability to handle social differences,
divisions and conflicts.

(vi) Equal treatment of women is a necessary ingredients of a
democratic society.

(vii) Democracy has strengthened the claims of disadvantaged.

(viii) Any other relevant point.
(Any five points to be explained)

33 (a) Explain the rising importance of the tertiary sector in India. 24 E 5X1=5

(i)

(i)
(iii)

(iv)

In any country several services such as hospitals, educational
Institutions, post and telegraph services, police stations, courts,
village administrative offices, municipal corporations, defense,
transport, banks, insurance companies, etc. are required. These
can be considered as basic services.

In a developing country the government has to take
responsibility for the provision of these services.

The development of agriculture and industry leads to the
development of services such as transport, trade, storage and
the like.

Greater the development of the primary and secondary sectors,
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(V)

(vi)

more would be the demand for such services.

As income levels rise, certain sections of people start
demanding many more services like eating out, tourism,
shopping, private hospitals, private schools, professional
training etc.

Over the past decade or so, certain new services such as those
based on information and communication technology have
become important and essential. The production of these
services has been rising rapidly.

(vii) Any other relevant point.

(Any five points to be explained)

OR

(b) Explain the difference between organised and unorganised

sectors.

Organised

Unorganised

(i) Covers those enterprises or
places of work where the terms of
employment are regular. Therefore
people have assured work

(i) The unorganised sector is
characterised by small and
scattered units which are
largely outside the control of
the government.

(i) They have to follow some rules
and regulations which are given in
various laws such as Factory Act,
Minimum Wages Act, Payment of
Gratuity Act, Shops and
Establishments Act etc

(i) There are rules and
regulations but they are not
followed

(iii) It is called organised because it
has some formal processes and
procedures.

(iii) This sector includes a
large number of people who
are employed on their own
doing small jobs such as
selling on the street or doing
repair work. They do not

follow any formal
procedure.
(iv)  Workers in the organised | (iv) Jobs are low-paid and
sector enjoy security of | often not regular.
employment Employment is not secure.

People can be asked to leave
without any reason

30E

5X1=5
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(v) They are expected to work only | (v) There are no fixed
for a fixed number of hours working hours

(vi) If they work more, they have to | (vi) There is no provision for
be paid overtime by the employer. | overtime

(vii) They also get several other | (vii) No extra benefits are
benefits from the employers given

(viii) They get paid leave, payment | (viii) The workers do not get
during holidays, provident fund, | paid leave, holidays, leave
gratuity etc due to sickness etc

(ix) Any other relevant points of difference
(Any five points of difference to be explained)

Section E
CASE BASED QUESTIONS

(3X4=12)

34

Read the given source and answer the questions that follow:
Jikji

The Jikji of Korea is among the world’s oldest existing book printed
with movable metal type. It contains the essential features of Zen
Buddhism. About 150 monks of India, China and Korea are
mentioned in the book. It was printed in late 14™ century. While the
first volume of the book is unavailable, the second one is available in
the National Library of France. This work marked an important
technical change in the print culture. That is why it was inscribed on
the UNESCO Memory of the World Register in 2001.

(34.1) Mention the significance of the Jikji in the history of
printing. (1)

(i) The Jikji of Korea is among the world’s oldest existing book
printed with movable metal type.

(i1) Any other relevant point.

(Any one point to be explained.)

(34.2) Why was the Jikji inscribed on the UNESCO Memory of
the World Register in 2001? Q)

(1) This work marked an important technical change in the print
culture. That is why it was inscribed on the UNESCO Memory of the
World Register in 2001.

(i1) Any other relevant point.

(Any one point to be explained.)

(34.3) How does the Jikji contribute to the understanding of Zen

108 H

1+1+2=4
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Buddhism? (2X1=2)
(1)Jikji contains the essential features of Zen Buddhism.

(i1) About 150 monks of India, China and Korea are mentioned in the
book.

(iii) Any other relevant point.

(Any two point to be explained.)

35

Read the given source and answer the questions that follow:
Social and Religious Diversity

The Census of India records the religion of each and every Indian
after every ten years. The person who fills the Census form visits
every household and records the religion of each member of that
household exactly the way each person describes it. If someone
says she has ‘no religion’ or that he is an ‘atheist’, this is exactly
how it is recorded. Thus we have reliable information on the
proportion of different religious communities in the country and
how it has changed over the years. The record shows the
population proportion of six major religious communities in the
country.  Since Independence, the total population of each
community has increased substantially.

(35.1) At what interval is census conducted in India? 1)
10 Years

(35.2) Why are India census data considered reliable? (1)

(i) The person who fills the Census form visits every household and
records the religion of each member.

(ii) Any other relevant point.

(Any one point to be explained.)

(35.3) How is the census an important tool to understand the
social diversity in India? (2X1=2)

(1) Census gives reliable information on the proportion of different
social communities in the country and how it has changed over the
years.

(i1) The record shows the population proportion of six major religious
communities in the country.

(iii) Any other relevant point.

(Any two point to be explained.)

39P

1+1+2=4

36

Read the given source and answer the questions that follow:
Sustainability of Development

14 E

1+1+2=4
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“Recent evidence suggests that the groundwater is under serious
threat of overuse in many parts of the country. About 300
districts have reported a water level decline of over 4 meters
during the past 20 years. Nearly one-third of the country is
overusing their groundwater reserves. In another 25 years, 60
percent of the country would be doing the same if the present way
of using this resource continues. Groundwater overuse is
particularly found in the agriculturally prosperous regions of
Punjab and Western U.P., hard rock plateau area of central and
south India, some coastal areas and the rapidly growing urban
settlements.”

(36.1) Explain the meaning of Sustainability of Development. (1)
(i) Sustainable development means ‘development should take place
without damaging the environment and development in the present
should not compromise with the needs of the future generations.
(if) Any other relevant point

(Any one point to be explained.)

(36.2) Describe the serious threat caused by overuse of
underground water. 1)

(i) Recent evidence suggests that the groundwater is under serious
threat of overuse in many parts of the country.
(i)  About 300 districts have reported a water level decline of over 4
meters during the past 20 years.
(iii)  Any other relevant point.
(Any one point to be described.)

(36.3) Mention any two suggestions for the farmers to reduce the
overuse of the groundwater in agriculture. (2X1=2)
(i) Change in crop pattern.

(i1) Use of newer techniques of irrigation like sprinkler, drip irrigation
etc.

(ii1) Any other relevant point.

(Any two point to be mentioned.)

Section F

Map Based Questions

(2+3=5)

Page 15 of 17




37

(@) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 23). Identify these places with the
help of the following information and write their correct names

on the lines drawn near them:

(i) The place where Gandhiji organized Satyagraha to help the 1
peasants.
(if) The place where the session of the Indian National 1
Congress was held in 1927.
(PLEASE SEE ATTACHED MAP FOR ANSWERS)
(b) On the same political outline map of India, locate and label any
three of the following with suitable symbols :
(i) Leading Coffee-producing State 3x1=3
(i) Durg: Major iron ore mines
(iii) Kochi: Major sea port
(iv) Rajiv Gandhi International Airport
(PLEASE SEE ATTACHED MAP FOR ANSWERYS)
Note: The following questions are for the Visually Impaired 5x1=5
Candidates only, in lieu of Q. No. 37.
Attempt any five questions.
(37.1) Name the place where Gandhi Ji organized Satyagrah to help
the peasants. -KHEDA/ CHAMPARAN 1
(37.2) Name the place where the session of the Indian National
Congress was held in 1927. - MADRAS (CHENNAI) 1
(37.3) Name the leading Coffee-producing state of India. -
KARNATAKA 1
(37.4) Name the state where Durg iron-ore mines are located.-
CHATTISGARH 1
(37.5) Name the state where Kochi sea port is located.-KERALA 1
(37.6) Name the place where Rajiv Gandhi International Airport is
located.-HYDERABAD 1
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